
Dice Problem
Everyone loves Swampy. Swampy the Alligator lives under the city and yearns for a more human
like existence. One day Swampy and his M friends decided to play a game. The game was
simple. Everyone rolls an N-sided die and whoever gets the largest faced side wins. All the
alligators lined up to throw the die. After all M friends of Swampy threw the die, it was Swampy's
turn now to throw the die, but he being intelligent than the rest of his friends wanted to know for
sure the odds of him winning the game.

Input

First line of the input contains an integer T, the number of test cases. Then T test cases follow.
Each test case consists of two integers N and M. Next line contains M integers(space separated),
d1, d2,..,dM, the face of the die Swampy's friends got.

Output

For each test case, print "Case #X: A/B" (quotes for clarity only), where X is the test case number
starting from 1, A is the numerator, B is the denominator and A/B is in the form of an irreducible
fraction. If the required probability equals to zero, output "0/1". If the required probability equals to
1, output "1/1".

Example

Input:
2
6 6
1 2 3 4 5 6
6 6
1 1 1 1 1 1

Output:
Case #1: 0/1
Case #2: 5/6

Constraints: T <= 100 1 <= N <= 1000 0 <= M <= 1000 1 <= di <= N
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